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EN 15011612

EN ISOT1611

EN1SO 1149-05

IEC 61482-1-2

EN 13034

Protection
Electrical safety against Flash
chemicals EN NFPA 70 E fire NFPA
13034:2005 2112

Protection
against liquid

Electric arc
protection EN
61482-1-2:2007

Protective
Clothing for use |Protection against
Protection Against Heat and | in Welding and | static electricity
Class e NYL o RV TEN Weave flame EN ISO 11612:2015 | Allied Processes | EN ISO 1149-
EN ISO 5:2008
11611:2015

180 (110070 |V Plain A1A2B1C1F1
240 (110069 |V Twill A1A2B1C1F1 Class 1 Class 1
= 220 [110076 |V Twill A1A2B1C1F1 Class 1 Class 1
§ 300 (110080 |V Twill A1A2B1C1F1 Class 2 Class 1 v
1= 350 [110236 v SATIN A1A2B1C1E2F1 | Class 2 Class 1 v
a 450 1|110088 v SATIN A1A2B1C1E2F1 Class 2 Class 1
= 340 (110169 v v SATIN A1A2B1C1E1F1 | Class 2 v v
‘g 270 |110073 v v SATIN A1A2B1C1F1 Class 2 v v
“g 340 (110074 v v SATIN A1A2B1C1F1 Class 2 v v
= 233 110504 v v TWILL 2/1S A1A2B1C1F1 Class 1 v
260 (110071 v v SATIN A1A2B1C1F1 Class 2 v v
240 (110006 v TWILL 2/1 Z A1A2B1C1F1 Class 1
)
= 150 |120004 v v v Plain A1A2B1C1F1 Class1 v Class1 v v
= | 220 [120005 v v |V Twill A1A2BICIF1 | Classl v Class1 % %
= 180 (120532 |v |v |V 4 Plain A1A2B1C1F1 Class1 v
2 [ 250 [120536 |v |v |V Twill A1A2B1C1F1 Class1 v Class1
g 310 |120518 |v |v |V Twill A1A2B1C1F1 Class2 v Class1
= [ 300 |120548 |v |v |V Twill A1A2B1CIF1 Class2 v Class1
226 (120576 v v v TWILL 2/1 Z A1A2B1C1F1 Class1 v
249 (120570 v v v v PLAIN A1A2B1C1F1 Class 2 v
228 (120583 v v TWILL 2/1 Z A1A2B1C1F1 Class1 v v
180 |125132 v v v v PLAIN A1A2B1C1F1 Class1 v
154 |120031 v v PLAIN A1A2B1C1F1 Class1 v Class1 v v
208 (120514 v v v v v DOBBY A1A2B1C1F1 Class1 v
250 (120515 v v v v v DOBBY A1A2B1C1F1 Class 2 v v
218 (120521 v v v v v RIP STOP A1A2B1C1F1 Class1 v
207 |120510 v v v v v RIP STOP A1A2B1C1F1 Classl v
251 (120511 v v v v v RIP STOP A1A2B1C1F1 Class 2 v v
180 |125002 v v v v PLAIN A1A2B1C1F1 Class1 v
219 120543 v v v v v PLAIN A1A2B1C1F1 Classl v
240 (110069 |V Twill A1A2B1C1F1 Class1 Class1
= 240 (110006 |V Twill A1A2B1C1F1 Class1 Class1
= 270 [|110096 |V Twill A1A2B1C1F1 Class2 Class1
§ 300 (110080 |V Twill A1A2B1C1F1 Class2 Class1 v
g 350 (110236 |V SATIN A1A2B1C1E2F1 | Class2 Class1 4
0 450 (110088 |V SATIN A1A2B1C1E2F1 | Class2 Class1 4
S 150 (120004 v v v Plain A1A2B1C1F1 Class1 v Class1 v v
E 220 [120005 v v v Twill A1A2B1C1F1 Class1 v Class1 v v
3 180 [120532 |V v v v Plain A1A2B1C1F1 Class1 v
v 250 [120536 |V v v Twill A1A2B1C1F1 Classl v Classl
310 [120518 |V v v Twill A1A2B1C1F1 Class2 v Classl
— 270 |110096 |V Twill A1A2B1C1F1 Class2 4
(&
I=
o
© 450 (110088 |V SATIN A1A2B1C1E1F1 | Class2 4 v




